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QUESTION 1

Which two are valid use cases for a business service?

A. load balancing XML messages between multiple service endpoints using different transports

B. load balancing SOAP messages between multiple service endpoints addressed by different URLs
C. load balancing MFL messages between multiple service endpoints based on server load

D. routing a Java message to a JMS error queue after three failed load-balancing attempts

Correct Answer: CD

QUESTION 2

Which expiration and escalation setting can be used to route a task a specified number of levels up a management
chain if the assignee does not respond in a given time period?

A. Never expire

B. Expire after

C. Route to manager
D. Renew after

E. Escalate after

F. Management chain

Correct Answer: A

QUESTION 3
Which two are correct statements about the Oracle Cloud Adapter for Salesforce.com?

A. It uses either HTTP basic authentication or username token authentication to perform secure interaction with
Salesforce.com.

B. It can make both synchronous and asynchronous calls through the Salesforce.com SOAP API.
C. Behind the scenes, it uses the SOAP API provided by Salesforce.com.

D. The design-time tooling generates a WSDL that is different from the enterprise WSDL available from
Salesforce.com.

Correct Answer: C
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QUESTION 4

You have modeled a composite with an inbound adapter service wired to a BPEL process component.

Which method do you use to model a rejection handler for the inbound adapter service?

A. Define the rejection-handler logic in rejection-handlers.xmlin the $MW_HOME/soa/connectorsdirectory.

B. Define the rejection-handler logic inline as a child element of the section of the inbound adapter in composite.xml.

C. Define the rejection-handler logic in a top-level catch block in the BPEL process where the QName of the fault should
be bpws:rejectedMessages.

D. Define the rejection-handler logic in fault-policies.xmlfor the composite, and then associate the fault-policies.xmlwith
the composite.

Correct Answer: D

QUESTION 5

To support the deployment of a new provisioning system, a company wants to install and configure a production domain
with Oracle SOA Suite and Oracle Service Bus.

Which statement is true about the required effort?

A. Separate domains must be configured for Oracle SOA Suite and Oracle Service Bus.

B. The Oracle Repository Creation Utility (RCU) must be run twice to create the required schemas.
C. The installation of Oracle SOA Suite includes the installation of Oracle Service Bus.

D. A supported version of WebLogic Server must be installed before installing Oracle SOA Suite.

Correct Answer: D

QUESTION 6

Your company has a checkCredit service used in the sales process and your organization plans to roll out a new sales
mobile application.

Identify two approaches that you can use to develop the new mobile application.
A. Develop a template for the checkCredit service.

B. Expose the checkCredit service with a REST interface.

C. Create a BPEL subprocess for the mobile application request.

D. Use JSON for payload.

Correct Answer: C
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QUESTION 7

To avoid the purchase of new server capacity, a company must limit the volume of messages routed to a
computationally expensive RESTful service operation.

Which Oracle SOA Suite component can help the company meet this requirement?
A. BPEL process

B. Mediator

C. Proxy Service

D. Business Service

Correct Answer: D

QUESTION 8

Which statement is false about debugging SOA composites?

A. You can run the debugger in Oracle Enterprise Manager Fusion Middleware Control.
B. You can debug on local as well as on remote servers.

C. Breakpoints are the intentional pausing locations in a SOA composite application that you set for debugging
purposes.

D. If the composite is not already deployed in the current JDeveloper session, then JDeveloper will redeploy it.

Correct Answer: C

QUESTION 9

Which Oracle Event Processing (OEP) data cartridge should you use to track the GPS location of buses and generate
alerts when a bus arrives at its predetermined bus stop positions?

A. JDBC Data

B. Oracle Spatial

C. Hadoop Big Data
D. NoSQLDB Big Data
E. Java Data

Correct Answer: B

QUESTION 10
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You are planning to upgrade a SOA suite production environment from 11g to 12c and are evaluating the required steps
in the upgrade process.

Identify the two statements that accurately describe that process.
A. Composites must be redeployed after the upgrade process.

B. It is recommended to-purge as many nonessential instances in the dehydration store as possible before the
upgrade.

C. BAM dashboards and alerts will be migrated automatically.
D. Long-running instances will resume after the upgrade process has completed.

Correct Answer: BC

QUESTION 11

Which two statements accurately describe policy attachment in Oracle Web Services Manager (OWSM)?

A. The order in which policies are attached to a subject determines the order in which the policies are executed.
B. JDeveloper groups the policies that can be attached into five categories of interceptors.

C. Multiple WS-Addressing policies can be attached to a policy subject.

D. In Enterprise Manager Fusion Middleware Control, a security policy can be attached to a web service and it can be
either enabled or disabled.

Correct Answer: AC

QUESTION 12

When you create an assert in a test case, you can specify a Compare By rule of xml-identicalor xmisimilar. The rule
designates the strictness of the comparison.

If you choose xml-similar,identify two conditions that will cause the comparison to fall.
A. The namespaces are the same, but the namespace prefix is different.

B. An element has the same child attributes, but they are in a different order.

C. An element has a different name, but the same child attributes are in the same order.
D. The namespaces are different, but the namespace prefix is the same.

Correct Answer: D

QUESTION 13

Given the following XML document, which two XPath expressions return the same result?
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